YIE - B

BERERR AL 10 /N, |NES 57,450 5o HER/NMNILHMEDNEDH,E1~7BRE-TERFEER
BR,E~10 BHESNMEMAFTER, EMEXMNES 4, EMEFRLKE 3 5, FEFENE 0 5,

1.B 2.A 3.D 4.B 5.C 6.D 7.B 8. AD 9. AC 10. BD

11. (1)89.00( +0.01,1 4}) 10.60(1 4})

2F, +F,

(2)—3

(273)

@n5) -5y

12. (1)R, (2 4%)
(2)2.38(24%)  2.51(K2.52,2 %)
(3)D(243)
13. (1) SR an & prs (34%)

i FPE o 4RI LR -
FBERT S 0] LUAAREE o
G B AR R AL ME LA m S m X 945 1 5.
PR BT S T ARGk RS O R 2T 55 o ey 2 170
PRI R B2 R T8 1 B - 12 o B DO NS 2 W o

(2) P BRI 0 =20 D (1)




14.

15.

i AMOP th R E AT =2 E @

sin 3
1
n_sinC ®
d=Rsina @

KUOBHd=r L1 ©

(141)

(14})
(141)
(241)

(1) 8 OA BEESA L, Yy 55 T 18] (4 3 BE S N KON o, W9ER R S ST 505000 my om0 W AE 5 £l i

[ B T FEE g vy, S FP R A 38 R I3 BE 2350000 0, v, R R AT

L 1
_Mmlg7=0 _7’”1”(2) @

L 1
—,umlgT:O _?mlvlz @

L 1
Mg o =0 _7’”2”; ®

m,vy =m;v; + m,v, @

Ha‘éj®~@?%z =2+2 6

1
2

()BT WS By =~mid ©

o g N =1 = 1 1 1
fill A3 o AR TP LA BE B R B AE = Tmlv(z, - Tmlvf - 7m211§®

@ - oAl 21

(1) BN B TS50 0,0,
IR

h=vt @D

2
mv,

qu,B=—
’

I

=5 ®

r

_Jr_mm
“w,  ¢B @

BrOBDH , =22

(2) B AAHAE A Y | £ A AR Ak TE AL, R 988 i 3 R A fe , RIVAIEARE i 5 ] TR R 2 B8R B2 20 A8 A 0, o

AR BE
a® ©

|

2r=

@

a =

I o

HEODOD 1, =L

4B
h=v,t 9

(141)

(173)

(141)
(141)
(251)

(173)

(241)

(143)
(141)

(173)

(241)
(241)

(173)

(173)

(173)



16.

EH@@'?%1)2=1}] ® (14}.)
ﬂﬁ@@ﬁﬂ:‘{?—j 0 (14)
(L) HLEE AR 11 TP ) A AR AC IS B A8 228 € i, A BT, 7 ) ARSI 2 S o) s
B2 AC, I | R

.....

Esamignan 30° D (149)
B F =J3—3_ g @ (291
()RS F RIS GIE T F R SR 17, B /NERIZ sl 72 b ol BE 3G 8 0 K, WU /NER B — vk i
5 RIS B TE SRR 1 3 B A S BRI 3R D Ak

A 2 frs , ZANBRTE SRR TR F137 T ez 3, B0F -

Rcos 30° =v,t (14)
R + Rsin 30° :%aﬁ @ (143)
azcos30° © (15
ARSI A, W =2l © (1)
=Lt o (1459)

(3) WK 3 PR FEEE 1 5 A AT IABRELG 0 52 b S/ NEROR LA B RS [ 2R, ) s 0 fi /)N BR BE
AL PR AE A5 ) v (Y i e s BB, BUNBRTE A SRR R R v,




A BB E g AR Sh REE BEAT

- F, (R - Rsin 30°) =%m1}i —%mv%

/E\:rh 5 F,. = _mL @
7 sin 60°
INERTE T RE I B3R B A AR 2R 028 — e A

Fo=" @

B, =2, [P @

R 3 s T, AP B N 1= o, ©
o1 =2m 3R g v s B 2 2m R

(241)

(143)

(143)
(143)

(273)





